T

= g/0

fhze (R01)

EAJ‘/‘\
THE4 | R2fL fEEWER - R = M SR ey FEX TE FEHERR - (&
THEXS B B AHERT
TRy - TFE - FER - M5 JRA% =<¥iva e (gD HE (5E) B R i 22
B B AHERT
= 1
Fe kKR T
= 1
WA E AT

= 1
RIS & TR A, #8115 1 500cm
HE
T 60 cmA it VN 24
T E PR B E AEOK, A - 60emAig
HE

m2 1,270
FHE Y E P B E AEOK, A - 60emAig
Wy Bl

m2 1, 270
PR bR i TN ZS S HEA 2 b, il THRRE: 1000m
HE 2LL _E, Fis T35 A A 1 - 1 R 422
G| e (BE KO iE ) m2 1, 310
PARBRE i T PZS FA 2 Hibt, i THUBL: 1000m
HE 284 b, Jite TP BIAR I« fH FH KR A2
PACINE! e (BE KO iE ) m2 1, 310
PARBRE i TPZS FOA 2 Hibt, i THUA: 1000m
W Bl 20 E, fi T35 AT BIAH 1E : L H X
1= H DA YL BfEHy m2 1,710
WLy B (N7)

t 2
VU= ¢ B E AR

t 2

=N

m




IEI\’(L\\

fhze (R01)

[=
1.5 B
R2fEL fESREHR 8- bR =M HERSEER FEX HERF - 1&hE
TEXS HERF
TEHEXSy - TFE - &R - Hl5) Hiks =<¥iva e (gD Y (AR Tk i 22
= 1
= 1
ROE#:H
m2 710
t 2
= 1
= 1
A H 25
A H 25
= 1
= 1
HamiRee s (L3 L)
= 1
9 - THE Y I




1.5

=Ry

i fEae (AN01)

TH4 | R2ML: EEBER 8- LR A E Y HEX Sy TE B AERF - R
THEXSy TH R AERE
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
S ¢
= 1
Bl E P
= 1
T
= 1
— A PR
= 1
TS
= 1
THEBIRE K O 5 1 e B
= 1
TR
= 1
5= 8




